X3a—F— | SL-LAOORTCB (BHEZ ST R— KIKEEY) e I 5= 12
: = mm

2 :2024.11.29

#Hi5E 1 2024. 09. 20

AHE AHE
X

\
+200mm
—200mm

P
~+200mm
—200mm
100 2T TFHY YT T 2R W=400 X

St G-60x30x1. 6t {3400
(LGSKH FHTH) RATL—LW

AN—H—
RlIETH)

+200mm
Z | —200mm

20

AL
s
e -

3451138 (LGSEH# FHhT l j

MF4 X E Z (W4x50)
o . ERV200 T - $10-0030x 1.6t
/\s =
= 1 <
o
[ . _ © -
ARHFIELTE
FRTHREZ WX 16) aumeay e

FATHREZR M4x16)

HBILF 5 R EZ (06.M4x16) ER{EX
e Jlcild
17.5 165 17.5
200

|V CERICHE>TOEESR! b P d X

R U — XIEHIERRD =85, . 12.5112.5/1.5] 9

;ﬂ%}u:;ﬁffﬁ-ntn%wmwﬁﬁi R—FRICk% [12.5]/9.5[1.5] 6

AEMHEEICIBEFE S ENEE A a 9.5[12.5]/1.5] 6

12.5 9.519.5|1.5] 3

9.5 12.5] 0 5 0

MAR—G—F




2R BT A

7 oh—EEMRE :

K#a—F— | SL-LAOORTCB (B (FF4T R— F24LREY) =12
f® @< 560 mm
BEE EEES
X
\
+200mm
—200mm
P
N +200mm
100 FHTF#Y YT S 2R W=400 @ —200mm
St C-60x30x 1.6t
(LGSKFH#TH# T H)
RATL—LW
T s / : +200mm
i :i: S | —200mm
( MT4 A ER (M x50)
. St C-60x30x1.6t
< ERV200 : BT % GRETF
L
ARSFHETFE a -
g \Mﬂ
FTRTHRAER W4x16) (AR ITE)
T 4 2 E Z (D6, M4 x 16) FATZALAMAXI6)
165
é 200
Eé |V CERICHE>TOEESR! c e 4
AR Y — R IFHIER RO T, 12.5 .51 9
8 PHBEIZE Y -bd - b LLEOBHITEET A, 12.5 1.5] 6
3 AEMHEEICIBEFE S ENEE A 9.5 1.5] 6
g 9.5 15[ 3
& 12.5 510
® KAR—H—E




XHFa—+—

SL-L400RTCB

(BFEZTET R— FIKEEY)

2R BT A

EE

7 oh—EEMRE :

e=

560 mm

S=1:2

2 :2024.11.29

#Hi5E 1 2024. 09. 20

ZHTHY )T 5 2R W=400

20

EE T

ERV200

Fiimyis
i

5.3

T 9 XEZR (M x50)

St C-60x30x1. 6t
(Bl TH)

100
St C-60x30x 1. 6t
(GSKHTFHITE)
N H—(LES T }i‘
E343°2(138 (LGS T SiiE
] 0|
- e /%
— I =4 H
y |
AXFHLIFE

3,

(GSKHTEIE)  FATHRER Mx16)

HMT 2 R E R (D6, M4 x 16)

17.5

FATFHRER M4x16)

165

40

16.5

200

REE

AIHE

X
g
+200mm
—200mm

P
~+200mm
—200mm

+200mm
Z | —200mm

 CEAICHI o THERSR!

AR — X FHEER DT,

BIRREEICE Y fobd - R ChFORMNTEET AL
ABMREICIEREI S VEL A,

R—FEIZkS

—_ ===
oljofor|on

©|o
NI ININ o
|9 en|en

—_

olw|o| oo

MAR—G—F




2R BT A

7 oh—EEMRE :

XH#a—+— | SL-LAOORTCB (BHES(FEAT K— F2AKEEY) =12
& . @< 560 mm
BEE EEES
X
\
+200mm
—200mm
P
Z1+ T U752 R:N=400 +200mm
100 ZITTFHI YT IR N= —200mm
St C-60x30 1. 6t
(CSKHATHLH)
BRATL—LW
. +200mm
H i | ALY —200
HES (138 (GSKHTHTE) L I | GlEEE "
f = M7 % 2 £ Z (W4 x50)
K TN St C-60x30x 1. 6t
3 - ERV200 GETE
2 :ﬁ“ L -
HEEFE B B
5 ©
(LGSKFATFHIE) 2
o R \ B ERLE Y Tt
FAFHREZR (M4x16) [CIEEES)
- . FRFH ZEZ WX 16)
BT X E X (06 MAx 16) T * ER#X
C
165 1.5
g 200
Eé |V CERICHE>TOEESR! c e ¥
AR — RISBEHADT=8D. 12.5 .51 9
g PHBEIZE Y -bd - b LLEOBHITEET A, 12.5 1.5] 6
3 AEMHEEICIBEFE S ENEE A 9.5 1.5] 6
g 9.5 15[ 3
& 12.5 510
u MAR—H—F




	シートとビュー
	66416-l400rtcb-平行1
	66416-l400rtcb-平行2
	66416-l400rtcb-直行1
	66416-l400rtcb-直行2


